WARKFEE L TRES L
WA Sl R S G VP o MK

—. TPHEABH
ol 2t R IR I, JUE AT A A R i TR TSR
I R AR IR AT R AE A, X o EIRA AR EIRAWT AR, RIE AR
FWE T TR E AL, 3BT I
£ 1 AL POFAEZNLZEEFEHHRE

5 R A i

1 Wit — A (LR
2 WL Ak L) Pk =R s
3 WL =42 - — 4
i R (R P
5 WL — 2 CIF LR )

6 Ty W= A
; W U2 U 2 4

= BEAE. HMEENE
FERRM ST (A +RIESCR (B) +HAhTTER (C) +HEp Il (D) ZRaE1RE, &
3 A K SR T
—) #BS (A

YAixXB > Ci x Di
M= (e B 70%+~—§57—x30%)
M—HJFFE A 2 2] AR
Ai—BFFAESS | 1B R 5
Bi— R AL S i [T B
Ci—HF A5 | 1TIRABIHRAT 5
Di— W LA SR | T TR 4)
(=) PR (B)
1. BURER
(D WIHE AL R RS WX AATFRE, HIFRRAT SRS 4,
(2) BRIERE—BRIBNDBAN R K, BDAATFRFE, BIHKRH TIPS 4.



(3) AR ZARRE — LR BAONNIRKE, BAATERR, R TSR EE.
(3) TIEH BRI AR, BANTTRER, AR TSR,
(4) WG 7078 SCIy ElL 30kl NS SR SIS0 .
(5) EARRWMR RIS R B RIEN, AT IR AR R DL %
2. T ARHEAIIN AN . GRS =2 ARy +H A M A 1)
R 2 BEPOBIRELS S RRAESH R

TiH 25 FARSy
SCI B3 10
Y EI 5
WX E#H -
3L El 4
08X 2
) | oo & 1 S Bl R 2] Tk 15
LR, Tk Bk : ~ :
- W R BB R A B Tk 10
| P 512 FH 39 20 6 ) e A R AL 2
ERF (—& =5 40/20/10
AR B (—5 5 =55 20/10/6
TS (—& I =52%) 6/4/2

T
A E N ARSI S R 4 SO RS, 1R WA AAMRINA S ES 5.
B MEH. RS ASEHAH GO S 0.5 f ity
C £ K SCHI SR IR 47
D MR AF ST K UL BT bR PR, Rl A EE )
& 3 AL OLBIRAELS KRRV S R R s

TiH B | HF (R B | B= | BN BH AN BE | BN | BAKLL
& —) j:
1729 1 1 0.5 0.2 0.1 0.05 0 0 0 0
L 1 1 0.5 0.2 0.1 0.05 0 0 0 0
Tik 1 1 0.5 0.2 0.1 0.05 0 0 0 0
FEERL 1 1 0.5 0.2 0.1 0.05 0 0 0 0
AR ALl 1 1 0.8 0.7 0.6 0.5 0.4 0.3 0.2 0.1




(Z) HAhvrmk (B
R 4 A LHOBRAELSE R RIVEH A TR P A

* o

O%pe (ha) KBZREW: ZH5HM—R+1
@ZMNFARRIZTERERMES S BN —K+2, Wrifb—k+05

ANIEEED _ ~
OWFATE: FJE+4, BIERAK+3, Hih+2, AaT&n
@rkAR R e O AR S, FEETER, A NPIR, ERE
OEFS5+5, =%3+6, 5¥+7, —%248

S QOBHB58+3, =MW, TEEWLE, NG,
OGS 53+1, =542, 7543, —EW 44,

@5 E5%+03, =¥ +05, “S+1, —5W42;

OBt H+2,
B2 +4,
AT ofes,
OB TgD +6,
@E K %+8

Y
A R4 L8 43 EIR
B WA B, JrAIAAT.
(9 BaH (B)

& 5 &L LI AL S RNV T

I H 5y
PANEH -2
EEINEHE -2
RO EE -2
RGBT -10
W ZE AR AL VR 5
i
AT E TS .

B R&RHF @, AT,
=, PR
i+ B ReEAE

100
AX90%+ B x

max

X10% +C+D

G n/IR 7/ 6 0




100
B x

max

x100% +C+ D

S sl Y =R
100
AX60%+ B X X40% +C+D
max
L8 w2/ b7 k=2 o
100
B X x100% +C+ D
max
g, HiEE

MAERSIEREM . R FH ORI A, AR RS: BEEK
M2z B AU O ER AL B

AVEH B INERRRAL AR RS £ TR O A S BT .

R K E R TR D

2016 &4 H



